JL_

[IpuMeHeHune 3aKkoHa KOCHHYCOB Umst:

HCHOJIL3yﬁTe 3aKOH KOCHUHYCOB, qTO0bLI HAUTH ¥YroJja ToO4YKHU B oTHOCHTEJIBLHO TOYKH A.

1) A
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v
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HpI/IMeHeHI/Ie 3dKOHAa KOCMHYCOB

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

HCHOJIB?.yﬁTC 3aKOH KOCHUHYCOB, qTO0bLI HAUTH ¥YroJja ToO4YKHU B oTHOCHTEJIBLHO TOYKH A.

1) A 2) A
/ Bl
/ (3,6
e.5) FE0
$ $2.0 > Y _CG.0 >
A(0,0) A(0,0)
AB length = 5.39 AB length = 6.71
AC length =2 AC length =3
BC length =5 BC length = 6
(29+4+25):(2x539x%x2) (45+9+36):(2x6.71 x3)
0.37 0.45
cos™(0.37) cos™(0.45)
68.2° 63.43°
3) A 4) A
5.4 e
R C5.0 > | ¢O.0 |
A(0,0) A(0,0)
AB length = 6.4 AB length = 9.85
AC length =5 AC length=9
BC length = 4 BC length = 4

(41 +25+16) : (2 x 6.4 x 5)
0.78

(97 + 81+ 16) : (2 x 9.85 x 9)
0.91

OTBeTHL
1. 68,2°
2. 63,43°
5. 38,66°
4. 23,96°

cos™(0.78) cos™(0.91)
38.66° 23.96°
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